GC Grippers

SN
ix) NORGREN,

AUTOMATION SOLUTIONS

A
D/S -Datasheet %) er:e S"’r%n
iv



SO\N

@ vorcren C Series Grippers

=
%l) er;e S@n

Features:

® Modular configuration

@ Incorporates Norgren cylinders

® Rotary gripper head for unlimited adjustment
® Flange and orbital rod mounts

@ Field changeable jaw openings

® Field changeable single or double point tips
® Fixed or Adjustable Tip Inserts

® Optional side plate proximity sensing

® Multiple head type options

Technical Data 32mm Cylinder Bore
16mm Rod Diameter
Fluid: Compressed air 28mm Stroke

Air Pressure:

Minimum 2.76 bar (40 psi)
Maximum 8 bar (116 psi)

Operating Temperature:
-4° Celsius (25° F) to 77° C (170° F)

_ _ Contents
Air Consumption:
32mm: 1.37 in® or 22.52 cm? TechnicalData ....................... 2
Ordering Information . .................. 3
Air Filtration: Gripper Features . ... ........ououoi.... 4
40 Micron* . .
*Air supply must be dry enough to prevent ice formation at General Dimensions . .................. 6
temperatures below 2° C (35° F) Parts Lists . .. ....... ... ... .. .. . ... ... 8
Head Type Options . . ... ... .. .. ....... 10
Materials: _ _ Mount OPtONS . . .. oo v e e e 13
Gripper Head Hardcoat Anodized Aluminum . .
Sensing Cover Aluminum or Nylon Tip&InsertOptions . .................. 15
Jaw Bumpers Glass Filled Ny|on Sensing Options ....................... 18
Tip Inserts Heat Treated S-5 Tool Steel or Carbide GC3 Installation & Maintenance . .......... 20
Gripper Arms Heat Treated Alloy Steel

GC3 Gripper



®

n

7

e S

7
Ve

NORGREN
SIy efr;

AUTOMATION SOLUTIONS

SN
)
EY

GC3 SeriesOrdering Information

Order String Example. See note at

bottom of page.

(3QIS ANVH LHOIY) YOLOINNOD OHOIN NId § 0Q/OV OONVN = N
(3AIS ANVH L437) YOLOINNOD OHDIN Nid § DQ/OV OOWWN =1
(2AIS ANVH LHOIY) YOLO3INNOD OHDIA Nid ¥ 9a OOWVN = 3
(3dIS ANVH L437) YOLO3INNOD OHDIN Nid ¥ Od OOWVN =
(3AIS ANVH LHOIY) HOLOINNOD OHDIN Nid § 2Q/OV MOdNL=H
(3QIS ANVH 14317) YOLOIANNOD OHOIN NId § DQ/OV HOdNL =9
(3QIS ANVH LHOIY) YOLOINNOD OHOIN Nid ¥ 00 MOdNL =4
(3QIS ANVH 14317) YOLO3ANNOD OHIIN Nid ¥ 00 XOodNL =3
(3AIS ANVH LHOIY) HOLOINNOD OHOIN NId ¥ 04 4%d =a
(3QIS ANVH 1437) HOLOINNOD OHDIN NId ¥ 04 4%d =D

(3dIS ANVH LHOIY) HOLOINNOD OHOIN NId ¥ 0a 4%d = 4

(3QIS ANVH 1437) YOLOINNOD OHDIN NId ¥ 04 4%d = V
ONISNIS ALINIXOHd ON = X

‘ONISNIS ALINIXOdd —

LINNOW JONVTd dV3Y d3ddIdO S3I-Y3IS 00719 =17
AINNOW 3ONVId dv3d =€
LINNOW oy wwsgeg = ¢
INNON AOH.T=T
AINNOW ON =X
‘IdALLINNON —

S1d0d 1dN 8/T HLIM 43ANITAD =4
S1d0d 9 8/T HLIM ¥3ANITAD =V
Y3ANITAD ON =X

‘43ANITAD

|

— 319V1IVAY SNOILdO ON = X

3digdvo =4

— ‘S1Y3SNIdIL JAVONOD/XIANOD =V
S1Y3SNION =X

SSINMOIHL TINVd WWSG/ g-WWosSZ = €
SSIANMOIHL TANVd WWQOGg-Wwse'1=2¢

ONINIJO MV .08 d3ddN
ONINIJO MV .S¥ d3ddn
ONINIdO MV( -2/T 22 43ddN
ONINIdO MV( .08 §3IMOT
ONINIdO MVT oG 43MOT

— JTALS AvIH — ONIN3dO MVC 2/T ¢¢ 43MO1

3H0g wwee =€

HOLVYNOIS3A SAIYIS d3ddIdO

IVIAIVEVEDD

NOILVINHO4NI ONIY3IAd0

SIS dIL SSINMOIHL TNV WWSZ'T- W00 = T
(LNIWLSNCAY LYISNI SMOTTY) ¥30VdS ON = X
318noa=g
— SdiL —| I1ONIS=V
SdILON = X

‘HIMOT a3axXId = €1

‘HIMOT a3axXId =21

‘HIMOT a3aXI4 =11

‘d3ddn a3axid =en

‘d3ddn a3axid =zn

‘¥3ddn a3axid = In
ONINIJO MV

YIMOT 08 ‘YIddN +2/T 22 ‘AVMY dOdd = Td

ONINIdO MV -09T = €V

ONINIdO MVT .06 = 2V

ONINIdO MV( .SF = TV

‘3404 S3143S ¥3ddIido

Note:

If you still

The example ordering string shown above is only for reference. Norgren highly recommends that users fully

understand each GC3 option described in this technical guide before ordering a GC3 Series gripper.

have questions after reviewing this guide, please contact your local Norgren representative for additional

information.

GC3 Gripper




S\

Wz

) NORGREN,

e,

%% AUTOMATION SOLUTIONS
. T
Si erle Syron

GC3 Series Features

Optional Flange or Orbital
Rod Mounts
See Page 13

Off the shelf Norgren
Cylinder Options
See Page 8

¥

-

Rotary Gripper Head for
Unlimited Adjustment
See Page 5 for adjustment
procedure

Optional Side Plate Proximity Sensing
See Pages 18 - 19 for available options

Single or Double Tip Configuration
with Multiple Tip Insert Options
See Pages 15 - 17 for available options

Multiple Head Type
Options, Field Changeable
See Pages 10 - 12 for available
head types

See Page 20 for field change
procedure

GC3 Gripper




") NORGREN

NIEST AUTOMATION SOLUTIONS
. S
Si erle Syron

Rotating Gripper Head

This feature enables the end user to rotate the gripper head 360° around the center axis to perfectly
match the gripper alignment with the part contour. This is a standard feature for all Size 3 GC grippers
and is functional with all mounting options. Follow the steps below to rotate the gripper head.

Loosen the four socket head set screws
located on each side of the gripper head

Rotate the gripper head to the desired
position. The head may be rotated a full
360 °in either direction. Once positioned,
tighten the two set screws on the un-
marked faces to 55 in/lb [6.2 N/m].
Tighten the two set screws on the faces
stamped "2" to 55 in/lb [6.2 N/m].

GC3 Gripper




/)

) NORGREN,

“%> AUTOMATION SOLUTIONS
sy

17
erie S@n

GC 3 Basic Dimensions

Jaws Closed, All Head Types

6.90 [175.4]

4——— 4.15 [105.4] HEAD ——»

le— 2.72 [69.0] —={

I_’—l ;
"—'—L @ .91 [23.0] 201}511}
! I

|e———————5.47[139.0)| ————— |

6.90 [175.4]
[+——— 4.15 [105.4] HEAD ———|
—— 2,72 [69.0] —{
|
SOM‘ @
1.97[50.0] 126 [32.0]
5.47 [139.0]
le———————6.65[169.0] —————————»|
[+— 2.76 [70.0] 3.90[99.0]
|« 1.89 [48.0] -»{=- 2.01 [51.0] =
=1 154(39.0] [ UPPER JAW
(REF)
35 [9.0] = [« e
P fun¥
© 0
@ 0o® o
1.77 [45.0) P Q & | 75[19.2] 205[52.0] 3.46]
89 [22.5] \ ® ° ? °
v (€]
=
X © 7
AN
1/8 G or
1/8 NPT LOWER JAW
TYP.(2) (REF)
q
GRIPPER HEAD SWIVEL SET SCREW JAW PIVOT
TORQUE TO 55 IN-LBS [6.2 N-m]
TYP. (4)
’. 97 [24.6]TYP
360 UNLIMITED
HEAD ROTATION
REF.

1.76 [44.7] MIN.
CLEARANCE RADIUS

->| L— .63 [16.1]TYP.

Dimensions shown are for reference only. Engineered layout drawings are
available. Contact your Norgren representative for additional information.

8.0] CLOSED DIM. FOR
ALL HEAD TYPES

6.65[169.0]

’. 110 [28.0]REF.

GC3 Gripper



(% NORGREN

e AUTOMATION SOLUTIONS

N
%5 erie sf@n

GC 3 Flange Dimensions
Jaw Closed

[+——————————————— 7.40 [188.0] — = (e————————— 7,40 [188.0] ——————————————»

[4—————4.65 [118.0] HEAD———»| [+————— 4.65 [118.0] HEAD———|

1 o] |
wrmg | — —— — _”‘E“”TG@ 91 [23.0] 2.01\[51.1] = | e L

1]

[ Y
’—l PATENT PENDING —{ ATENT PENDING

le—— 3.01 [76.4] —! L 75[19.2]

3.07[78.0]
6.14 [156.0]
6.14 [156.0]
le— 2.76 [70.0] 3.39(86.0]
35[9.0] | = «1.89 [48.0]—» 1.50[38.0] fe
-~ 154[39.0] = L
JAW PIVOT
‘;
\ n o 110 [28.0]
1.77 [45.0) — © © [28.0] 2381605]
' ' \ / 47 [12.0]
1 X [
8 et = |e 55[14.0]
TYP.(2)
|e— 2.72 [69.0] —»11.22 [31.0] =

GRIPPER HEAD SWIVEL SET SCREW
TORQUE TO 55 IN-LBS [6.2 N-m]
TYP. (4)

M6x1.0x35mm LG. HEX BOLT
TORQUE TO 165 IN-LBS [18.6 N-m]

360 UNLIMITED
HEAD ROTATION
REF

1.38[35.1] MIN:
CLEARANCE RAD.

Dimensions shown are for reference only. Engineered layout drawings are
available. Contact your Norgren representative for additional information.

GC3 Gripper



S\

“) NORGREN,

>

%% AUTOMATION SOLUTIONS
. =
%l) erje Syron

GC3 Series Basic Gripper Parts List

O

Refer to your specific head type on pages E-1 to E-3
to determine the proper part numbers for these items.

Detail  Part Identification
1...... Base ............ ... ... L
2. SidePlate (2) ..................
3. Arm L
6 ...... RodEnd ......................
7 ... Pivot Shaft Body Spacer ..........
8...... GuideBlock (2) .................
9 ...... Bushing (2) ........... .. .......
11 ... Dowel Pin .....................
13 ..... SlotCover (2) ...
15 ... Weld Cover ....................
16 ..... Swivel Adapter ..................
21 ..., Swivel Spacer . ..................
200 ....Cylinder G-1/8 (mag. piston) .......
201 ....Cylinder 1/8 NPT(mag. piston) ......
215 ....M5x0.8x12mm LG Flat Head Screw (2) . .
218 ....M4x0.7x12mm SH Cap Screw (4) ...
219 ....M4x0.7x20mm SH Cap Screw (2) ...
220 ....M4x0.7x60mm LG SH Cap Screw (4)
402 ....CoverBumper ..................

*Refer to Head Type Parts Lists for variations
**Refer to Mount Options for variations.

Part Number

.. .**GC3A-016
.. . **GC3A-021

. .01A02028

..... 01A01998
..... 01A01586

. .**01A02030

... .*GC3A-402

GC3 Gripper




") NORGREN

NS AUTOMATION SOLUTIONS

N
%5 erie sf@n

GC3 Series Basic Gripper Parts List

DOUBLE TIP OPTION

Detail Part Identification Part
Number . e
Detail Part Identification Part Number
; """ g%iema{e' oy gggg_gg; 217 ....M4x0.7x10mm LH Cap Screw (2 ......... 01A02031
3 Arm T ;*GC3B-003 218 ....M4x0.7x12mm SH Cap Screw (4) ........ 01A01998
"""""""""""""""""""" 220 ....M4x0.7x60mm LG SH Cap Screw (4) ... .**01A02030
6 oo RODEND ..o GC3A-006 222 M6x1.0x35mm Hex Bolt *+01A02048
7 ... Pivot Shaft Body Spacer ............... GC3B-007 400 T Cover. """""""" GC3B-400
8 ..... GuideBIOCK (2) .« .\ oot GC3A-008 s ROVBE
SRR BuShing (2) ... GC3A-009 *Refer to basic gripper exploded view on page 8
10 Roller (2) ..o GC3A-010 **Refer to Mount Options for variations
1 ... DOWEl PiN oo oo GC3A-011 P :
13 ..... SlotCover (2) ... GC3A-013
15 ... Weld Cover (Single Tip) ................ GC3B-015
16 ..... Swivel Adapter . .......... .. ... *GC3A-016
19 ..... Single TiP ot GC3B-019
20 ..... Double Tip ....... ... . i GC3B-020
21 ... Swivel Spacer . ........ ... . *GC3A-021
28 ..... SidePlate .............. ... . ... GC3B-028
29 ... Weld Cover (Double Tip) ............... GC3B-209
200 ... .Cylinder G-1/8 (mag. piston) ............ GC3A-200
201 ....Cylinder 1/8 NPT(mag. piston) ........... GC3A-201

GC3 Gripper




SO\N

“) NORGREN,

. AUTOMATION SOLUTIONS'

=
%l) er;e S@n

GC3 Series Head Type Options & Parts List

Head Type Al Parts List
Detail Part Identification Part Number

3., AM2) GC3A-003
e °0® o 400 ...22-Degree Cover Bumper (2) ...GC3A-400
450[1143] |@+— — —— H
4| 9@ []
©)
Spare Part Kit
Includes all of the above ....... GC3A-Al

(see Note A)

HEAD TYPE OPTION: A1
WEIGHT: 1.1 LBS [.5 KG]

Head Type A2 Parts List
Detail Part Identification Part Number

3. AM(2) GC3A-003
402 .. .45-Degree Cover Bumper (2) ...GC3A-402

0® o
5.04 [127.9] O — — H
[} [}

| @ °@

&

)
¥ X

Spare Part Kit
Includes all of the above ....... GC3A-A2

(see Note A)

HEAD TYPE OPTION: A2
WEIGHT: 1.1 LBS [.5 KG]

Head Type A3 Parts List
Detail Part Identification Part Number

3., AMmM(2) GC3A-003
403 ...80-Degree Cover Bumper (2) ...GC3A-403

Spare Part Kit
Includes all of the above ....... GC3A-A3

(see Note A)

HEAD TYPE OPTION: A3
WEIGHT: 1.1 LBS [5 KG]

NOTE A: When changing from a type A head to another type A head (e.g., Al to A3) order the cover bumpers only.  If
changing to a different head type (e.g., Al to D1) order the spare parts kit for the new head type.

NOTE B: Weights do not include the tips, tip inserts, or spacers.

Dimensions shown are for reference only. Engineered layout drawings are
available. Contact your Norgren representative for additional information.

GC3 Gripper



SN

“) NORGREN,

%, AUTOMATION SOLUTIONS

e sfn

%')eri NS

GC3 Series Head Type Options & Parts List

Head Type Option D1 requires two different cover bumpers.
Refer to the D1 parts list below for part numbers.

Head Type D1 Parts List

M4x0.7x12mm LG. S.H.C.S.

5.02 [127.6]

Spare Part Kit
Includes all of the above
(see Note A)

80

HEAD TYPE OPTION: D1
WEIGHT: 1.1 LBS [.5 KG]

TORQUETO 45 IN-LBS [5.1 Ner] Detail  Part Identification  Part Number
e T 3. AM@MA) GC3A-003
(TPYI%QPOINT ReR) 5 . .. Amm(Q) . GC3A-005
) 404 ...0-Degree Cover Bumper (1) ....GC3A-404
.. .80-Degree Cover Bumper (1) ...GC3A-403
/\
— R
°® o
37 R — L — -

....... GC3A-D1

M4x0.7x12mm LG. SH.C.S, Head Type F1 Parts List
TORQUE TO 45 IN-LBS 5.1 N-m]

HEAD TYPE OPTION: F1
WEIGHT: 1.2 LBS [.6 KG]

This head type is available only with a 50-degree
opening and cannot be reconfigured otherwise.

TYP.(8) H T H
\50 Detail Part Identification
3 ... AM@2) o
400 ...22-Degree Cover Bumper (2) ...GC3B-400
¥ ] ¥
© o @0 — 4 .63 [16.0]
T® S 471120 ¥
3.61[91.7] © e I} $
Spare Part Kit
® Includes all of the above
(see Note A)

Part Number
GC3B-003

....... GC3B-F1

changing to a different head type (e.g., D1 to A1) order the spare parts kit for the new head type.

NOTE B: Weights do not include the tips, tip inserts, or spacers.

NOTE A: When changing from a type A head to another type A head (e.g., Al to A3) order the cover bumpers only.

If

Dimensions shown are for reference only. Engineered layout drawings are
available. Contact your Norgren representative for additional information.

GC3 Gripper



SO\N
1:5

) NORGREN,

%, AUTOMATION SOLUTIONS

=
%l) er;e S@n

GC3 Series Head Type Options & Parts List

Head Type Options Ul. U2, U3 and L1, L2, L3 each requires two different
cover bumpers. Refer to the part listings below for part numbers.

Head Type Ul or L1 Parts List
Detail Part Identification Part Number

o 3. AMA) GC3A-003
4 ... FixedArm (1) ............... GC3A-004
2991013 9 sl f 214 ...Dowel ..................... 06A01396
|| o s 400 ...22-Degree Cover Bumper (1) ...GC3A-400
~ ';"~ 404 ...0-Degree Cover Bumper (1) ....GC3A-404
{@\ 3,7'

. Spare Part Kit

HEAD TYPE OPTION: UL ortt In,c):Iudes all of the above ...... GC3A-UL1

WEIGHT: 1.2 LBS [.5 KG]
X\.’ @ (see Note A)
g

Head Type U2 or L2 Parts List
Detail  Part Identification Part Number

3L AMM@) GC3A-003
4 .. Fixed Arm (L) ......ooooiii. GC3A-004
214 . .DOWel ... ..o 06A01396

402 .. .45-Degree Cover Bumper (1) ...GC3A-402
404 ...0-Degree Cover Bumper (1) ....GC3A-404

4.25[108.0] % ©

Spare Part Kit

Includes all of the above ...... GC3A-UL2

(see Note A)

HEAD TYPE OPTION: U2 or L2
WEIGHT: 1.2 LBS [.5 KG]

Head Type U3 or L3 Parts List
Detail  Part Identification Part Number

o 3L AMMA) GC3A-003
@ 4@ 6 4 ... FixedArm @) .. ..., GC3A-004
- — — 1 — - 214 .. .Dowel .............oiiiiil 06A01396
4.50 [114.3] @ °®
e S ) 403 .. .80-Degree Cover Bumper (1) ...GC3A-403

404 ...0-Degree Cover Bumper (1) ....GC3A-404

Spare Part Kit
Includes all of the above ...... GC3A-UL3

(see Note A)

HEAD TYPE OPTION: U3 or L3
WEIGHT: 1.1 LBS [.5 KG]

NOTE A: When changing from a type U or L head to another type U or L head (e.g., U1 to L3) order the cover bumpers
only. If changing to a different head type (e.g., U1 to A1) order the spare parts kit for the new head type kit.

NOTE B: Weights do not include the tips, tip inserts, or spacers.

GC3 Gripper



(% NORGREN

e AUTOMATION SOLUTIONS

N
%5 erie sf@n

GC 3 Mount Options

Rod Mount 1" and 25mm

-

\ ®

— 2.56 [65.0]
——H .56 [65.0]
3.75 [95.3] MIN. GRIPPER HEAD

© CLEARANCE RADIUS

\

2.98[75.7] MIN. MOUNT
CLEARANCE RADIUS

e— 2,50 [63.5] —

M8x1.25x35mm LG. S.H.C.S.
TORQUE TO 240 IN-LBS [32 N-m]

\

TYP. (2)
- _ 360 UNLIMITED
ORBITAL ADJUSTMENT
15 MAX. REF.
( ]
LG —]
10 MAX. U
2.01[51.0] - 3.87[98.3] REF.
— ° °®
N
°® ®

M4x0.7x60mm LG. S.H.C.S. / = |- 1.28 [32.5]

51[13.0] = |=-
TORQUE TO 40 IN-LBS [4.5 N-m]
TYP. (4) e— 2.56 [65.0] —-|

|— 2.76 [70.0] —»

MOUNT TYPE OPTION: 1& 2
WEIGHT: .6 LBS [.3 KG]

NOTE:

1) TIGHTEN M8 S.H.C.S. EVENLY. THE GAP
BETWEEN THE ORBITAL MOUNT AND THE ORBITAL
CAP ON EACH SIDE OF ORBITAL BALL IS TO BE
APPROX. THE SAME AT THE SPECIFIED TORQUE
VALUE.

Rear Flange Mount

MOUNT TYPE OPTION: 3
WEIGHT: 6 LBS [3KG]
357 [90.6] — — —
31[8.0] -~ - 2.83 [72.0] ——{
M4x0.7x70mm LG. SH.CS. 421360
! ¥ (e
RE%ETOAMN LBS [4.5 N-m] 34 [6.6] DIA-THRU 42[36.0]
TYP. (4) HOLES
O fo | o] &
1
1.77[45.0] - — = - — - — L —| |— 118[300]
60 [15.3]
o) &

e 51 [13.0] 1.78 [45.3]

le——3.07 [78.0] —

GC3 Gripper




SO\N

“) NORGREN,

>

%% AUTOMATION SOLUTIONS
. =
%l) erje Syron

GC3 Series Mounting Option Part Lists

MT1 Rod Mount Parts List (English)
Detail  Part Identification Part Number

12 ... .Orbital Cap (1) .............. GC3A-012
14 ... .Orbital Mount (1) ............ GC3A-014
16 ... .Swivel Adapter .............. GC3A-016
40 ... .OrbitalBall (1) ............ P-GLM500-9
220 ...M4x0.7x60mm SHCS (4) . . . ... 01A02030
222 .. .M8x1.25x35mm SHCS (2) . . . .. 01A02048
225 ...S8 Serrated Washer (2) ....... 04A01216

Spare Part Kit
Includes all of the above . ..... GC3A-MT1

MT2 Rod Mount Parts List (Metric)
Detail  Part Identification  Part Number

12....0rhitalCap (1) .....c.ovvn... GC3A-012
14 ... .Orbital Mount (1) ............ GC3A-014
16 ... .Swivel Adapter .............. GC3A-016
41 ... .OrbitalBall (1) ........... P-XGLM500-9
220 ...M4x0.7x60mm SHCS (4) . ... .. 01A02030
222 ...M8x1.25x35mm SHCS (2) . . . .. 01A02048
225 ...S8 Serrated Washer (2) ....... 04A01216

Spare Part Kit
Includes all of the above ...... GC3A-MT2

MT3 Flange Mount Parts List

Detail Part Identification Part Number

16 ....Swivel Adapter (1) ........... GC3A-016
17 ....RearFlange (1) ............. GC3A-017
21 ....Swivel Spacer (1) ........... GC3A-021
221 ...M4x0.7x70mm SHCS (4) ...... 01A01522

Spare Part Kit
Includes all of the above ...... GC3A-MT3

MTX No Mount Option Parts List
Detail  Part Identification  Part Number

16 ....Swivel Adapter (1) ........... GC3A-016
21 ....Swivel Spacer (1) ........... GC3A-021
220 ...M4x0.7x60mm SHCS (4) ...... 01A02030

Spare Part Kit
Includes all of the above ... ... GC3A-MTX

GC3 Gripper




AN
() NORGREN

“@%s AUTOMATION SOLUTIONS
o <
(@5 erje sfgn

Tip Options

IA) IO
@E{} ( L

ﬁ%

= | ; 2

Gl i ] ) ' |

<T@/ @j <f@ il

Tip Option A Tip Option B
Single Double

wu

7t
J\

U

I{G\

q_n

=

_ _ BN
= ENSUNE =0 Sl

The Tip Options above are shown with Insert and Spacer options for illustration purposes only

GC3 Gripper




") NORGREN

N, AUTOMATION SOLUTIONS'
. =
Si erle Syron

Tip Insert Options

39 [10.0] 39[10.0]
FLATS . ¥ riats
4 t
T 20 [5.0) T .20 [5.0]
MBXL.0 THD. \ —1 M6x1.0 THD \ =
' t 118 1[30,01 ' il 118 l[3cm]
23[6.0] 4 23[6.0] 4

139[10.0] \/ ‘ .39[10.0] \/ ~—
{ {

CONCAVE INSERT

OPTION A

CARBIDE STEEL INSERT

OPTION B

Tip Insert Options

Single and Double Tip Insert Parts List
Detail Part I.D. Part No. Single Double
Tip Qty Tip Qty
35..... Option A Insert (convex). . X3-PT11............ 1 ..., 2
36 Option A Insert (concave). X3-PT12............ 1...... 2
39..... Option B Insert (carbide) . . X3-PT5 ............ 2., 4

Single and Double Flange Tip Insert Parts List
Detail Part I.D. Part No. Single

Double Tip
QtyTip Qty
40 .... Option A Insert (concave) GC3B-031 .......... 1...... 2

for Flange Weld Guard
35..... Option A Insert (convex). . X3-PT11............ 1...... 2
41 . Option B Insert (carbide). GC3B-032 .......... 1...... 2

for Flange Weld Guard
39..... Option B Insert (carbide).. X3-PT5............ 1...... 2

GC3 Gripper




SN

“) NORGREN,

%, AUTOMATION SOLUTIONS

N
%5 erie sf@n

GC3 Series Tip Insert Options & Parts List

Single Tip Option A Parts List
Detail  Part Identification  Part Number

19....Single Tip(2) ............... GC3A-019
223 ...M6x1.0x20mm Hex Bolt (2) ....01A02047
226 ...M6x1.0 Lock Nut (2) .......... 02A01316

Spare Part Kit
Includes all of the above ....... GC3A-TA

Single Tip

Double Tip Option A Parts List
Detail Part Identification Part Number

20....Double Tip(2) .............. GC3A-020
223 ...M6x1.0x20mm Hex Bolt (2) ....01A02047
226 ...M6x1.0 Lock Nut(2) .......... 02A01316
Spare Part Kit
Includes all of the above ....... GC3A-TB
Double Tip
Tip Spacer Options
Spacers for
Tip Options
ﬂ@ A and B
o .
Option 1: . Recommended for panel or part
= LiE;Toe.:s Black v thicknesses of 0.00mm - 1.25mm
o
Option 2: 5 Recommended for panel or part
Silver /17, thicknesses of 1.25mm - 2.50mm
Regular Chisel O t 3 d d fo |
ption 3: Recommended for panel or part
Gold SIS, thicknesses of 2.50mm - 3.75mm

NOTE:

1. Using Tip Spacers fixes the gap between the upper and lower Tip Inserts. Refer to the chart above for recommendations.
2. Removing the spacers makes the Tip Inserts fully adjustable.
3. The upper jaw will include a convex insert or inserts if applied to Tip Option B.

GC3 Gripper




S\

(i) NORGREN

N, AUTOMATION SOLUTIONS'
. =
SI\ er;e Syron

PS2 Proximity Sensing

OPTION B = PEPPERL & FUCHS (MODEL NBN2-F58S3-E8-V1): DC 4 PIN SINGLE KEY MICRO (RIGHT HAND SIDE)

OPTION C = PEPPERL & FUCHS (MODEL NBN2-F58S3-E8-V1): DC 4 PIN SINGLE KEY MICRO (LEFT HAND SIDE)
WITH SERRATED TOOTH ADJUSTABLE EDGE GUARD

OPTION D = PEPPERL & FUCHS (MODEL NBN2-F58S3-E8-V1): DC 4 PIN SINGLE KEY MICRO (LEFT HAND SIDE)
WITH ADJUSTABLE EDGE GUARD

OPTION E = PEPPERL & FUCHS (MODEL NBN2-F58S3-E8-V1): DC 4 PIN SINGLE KEY MICRO (RIGHT HAND SIDE)
WITH SERRATED TOOTH ADJUSTABLE EDGE GUARD

OPTION F = PEPPERL & FUCHS (MODEL NBN2-F58S3-E8-V1): DC 4 PIN SINGLE KEY MICRO (RIGHT HAND SIDE)
WITH ADJUSTABLE EDGE GUARD
LEFT SIDE (SHOWN)

/RIGHT SIDE (REF)
OPTION X = NO PROXIMITY SENSING
OPTION A = PEPPERL & FUCHS (MODEL NBN2-F58S3-E8-V/1): DC 4 PIN SINGLE KEY MICRO (LEFT HAND SIDE)

3.18 [80.9] REF.

GRIPPER CLOSED L GRIPPER OPENED
SENSOR #2 SENSOR #1

a—— 3.18 [80.9] —»|
a— 2.72 [69.0] REF. —»f

1.41(35.9
51[13.0] == - 2.09 [53.0] =y ™ [35.9] ==

—]

1.77 [45.0] DIA. — 1.43[36.4]
OMle i
| [eL |
| L1 T\
90 OPTION A OPTION B
LEFT SIDE (SHOWN) RIGHT SIDE (REF)

PROXIMITY SENSING OPTION (MODEL NBN2-F48-E8-C-V1 WEIGHT:
OPTIONS A-F: .2 LB [.1 KG]

GC3 Gripper




SN

“) NORGREN,

%, AUTOMATION SOLUTIONS

N
%5 erie sf@n

Proximity Connections - Mechanical & Electrical

TECHNICAL DATA: PROXIMITY SENSOR OPTION A
(SHOWN)
NOMINAL SENSING RANGE 2 mm % 10%
FLUSH MOUNTED, SHIELDED NO
STANDARD TARGET 8 mm x 8 mm x 1 mm FERROUS 4 PIN MALE MICRO CONNECTOR
HYSTERESIS TYPICALLY 5% I ALE M
REPEAIABILITY/ACCURACY <0.01 mm NOTE: WILL PIVOT 90
REDUCTION FACTION STAINLESS STEEL 0.7 COUNTER-CLOCKWISE)
ALUMINUM 0.4 M5x0.8x16mm LG. S.H.C.S.
COPPER 0.3 TORQUE TO 20 IN-LBS [2 N-m]
OPERATING VOLIAGE 10 TO 30 VDC = 10%
CURRENT CONSUMPTION <25 mA O Tom LG, LGS,
OUTPUT(S) 2 PNP NORMALLY OPEN X0, rx20mm L. LALC.S. -
TRANSISTORS, (SOURCING) TRy oz mLES N
OUTPUT CURRENT 100 mA MAX.
VOLTAGE DROP (ACROSS SENSOR) <3V
LEAKAGE CURRENT <0.1mA
SHORT CIRCUIT AND OVERLOAD PROTECTION YES GRIPPER SENSING WIRING DIAGRAM
REVERSE POLARITY PROTECTION YES
LED INDICATORS YELLOW: TARGET PRESENT Sggﬁ:%%gl Sggi%‘égz
GREEN: POWER ON
POWER-UP DELAY <5ms OFENED CLOSEP
SWITCHING FREQUENCY 20 Hz
ENVIRONMENTAL PROTECTION IP P67
OPERATING TEMPERATURE -25°C TO + 70°C
ELECTROMAGNETIC COMPATIBILITY (EMC) PER IEC 1000
MAGNETIC FIELD IMMUNITY UP TO 200 mT
SHOCK b<309g.T<1lms
VIBRATION f <55 Hz. ? < 1Imm AMPLITUDE
TYPE OF CONNECTION MICRO-CONNECTOR (V1)
HOUSING AND SENSING FACE MATERIAL PBTP (CRASTIN)
BROWN (+)

GC3 Series Proximity Sensing Parts List

PS2 Proximity Sensing Parts List
Detail  Part Identification  Part Number

1 ....SensorHousing (1) .......... GC3AT001
2 ... Target (1) ... GC3AT002
200. . . Status Controller (1) ......... GC3AT200
201 .. M4x0.7x20mm LH Cap Screw. .01A02039
400 .. Sensor Label .............. GC3AT400
Sensor Assembly
Includes all of the above ....... GC3-PS2

GC3 Gripper




) NORGREN,

%, AUTOMATION SOLUTIONS
. =
qél) erje Syron

Field Changeable Tips and Tip Inserts

These two features help make the GC3 Series of grippers adaptable to practically any sheet metal material
handling application. Tips can be changed from single to double or vice versa. The tip inserts can be used by
themselves, making them fully adjustable, or with spacers designed for specific part thicknesses. Page G-2 shows
the tip insert and the tip spacer options available for the GC3 Series gripper. Follow the procedures below to
change tips, tip inserts, or tip spacers.

Field changing of tips:

1. Remove upper and lower lock nut #226.

2. Remove upper and lower metric hex bolt
#223.

3. Change the tip #19 (single) or #20 (double).

4. Replace bolt and lock nut. Torque bolt to
165 in/lb (18.6 N/m).

Single Tip

Field changing of tip inserts:

1. Remove lock nut from upper and lower inserts, then screw out the inserts #35, #36
or #39 from the tips #19 (single) or #20 (double).

2. Thread new inserts into tips. Torque lock nut to 130 in/lb [14.7 N/m] Note: If
spacers #22, #23, #24 are being used, make sure all spacers match in color.

Refer to page G-2 for recommendations.
3. If used without spacers, follow the procedure below to properly adjust the inserts to

the part thickness.

Adjusting Tip Inserts

When used without the optional tip spacers, tip inserts are fully adjustable. Part thickness should not vary by
more than .040 in. Beyond that, the inserts must be adjusted to accomodate the thickness of the part. Follow the
procedure below to adjust the tip inserts.

NOTE: With the gripper’s jaws in their closed position, the inserts may be
manually adjusted. Refer to Figures A and B.

MAX. TIP ADJUSTMENT: .18 [4.6]
MIN. TIP ADJUSTMENT: 0.00

= j TYP.

1. With the tip inserts backed off, adjust the concave insert where
desired and lock into place.

2. Place the part between the two inserts and adjust the convex
insert by hand until both the concave and convex inserts are in
contact with the part.

3. Remove the part, then depending on the softness of the metal,
advance the convex inserts one or two rotations and lock into
place. Torque lock nuts to 130 in/lb [14.7 N/m]. For double tip
units, this last adjustment should be made with each convex
insert a little at a time so the part remains level when the two
inserts are locked into place.

Figure A

[*— MIN. TIP ADJUSTMENT: 0.00
MAX. TIP ADJUSTMENT: .21 [5.3]

Figure B

GC3 Gripper



() NORGREN,

% AUTOMATION SOLUTIONS

N
%5 erie sf@n

GC3 Series Installation and Maintenance

The features on this page provide two functions. First, they enable users to easily replace an arm in the field with
a minimum of downtime. Second, they give users the ability to reconfigure a GC gripper into a different model
based on changes in their application.

Field Changeable Arms

Field changing arms:
1. Loosen two (2) flathead screws #215 and
remove weld cover #15.
2. Remove the two (2) socket head cap screws
#218, the one (1) socket head cap screw #219,
and side plate #2 (side plate shown without
cover).
Remove guide block #8 and slide off arm #3.
Replace arm and guide block, making sure the
bumper is properly seated, replace side plate,
the two (2) #218 socket head cap screws, and
the one (1) #219 socket head cap screw.
Torque the #218 screws to 45 in/lb [5.1 N/m]
and the #219 screw to 35 in/lb [4 N/m].

Eal

Field changing bumpers to change

head type:

1. Loosen (no need to remove) the two flathead
screws #215.

2. Tip and and remove bumper(s) #402.

3. Replace with new bumper (see Note below).

4. Retighten 2 flathead screws. Torque to 50 in/lb
(5.5 N/m).

NOTE:

1. Head Type Options A1, A2 & A3 each use identical bumpers. Refer to page E-1 for kit information and part callouts.

2. Head Type Option D1 uses a single 22° bumper and a single 80° bumper. Refer to page E-2 for kit information and part callouts.

3. Head Type Options L1, L2, L3, U1, U2, & U3 all use a single 0° bumper combined with an opposing 22°, 45° or 80° arm bumper.
Refer to page E-3 for kit information and part callouts.

GC3 Gripper



") NORGREN,

. AUTOMATION SOLUTIONS'
. =
%l) erje Syron

Changing the Cylinder

Replacing the cylinder:

1. Loosen the four orbital mount set screws #406.

. Remove four (4) long socket head cap screws #220 or
#221 depending on mount options.

. Pull gripper head and cylinder #200 or #201 apart with
your hands until the rod end #6 is exposed.

. Being careful not to mar the surface, secure the rod
end which is now visible and unthread the cylinder from
the rod end.

Lubricating the GC Gripper

! S /
o ‘N\\&! 900 Lubricating Instructions:
P 3 1. Use MOBILITH SHC 1500 Grease.
& m/ F 2. Coat both sides of the middle section of the base #1.
\ 3. Coat inner side and slot of side plates #2.
4. Coat lower half (both sides) inner surface of slot and pivot

hole of arms #3, #4, or #5, depending on head type.
Coat all sides of guide blocks, #8.

Coat I.D. and O.D. of rollers, #10.

7. Coat length of dowel pin, #11.

ou

GC3 Gripper



S\

(%) NORGREN,
GC Series Grippers %%, AUTOMATION SOLUTIONS’
Size 4 Gsiy erje sf@@n

Features:

® Modular configuration

@ Incorporates standard Norgren cylinders

® Rotary gripper head for unlimited adjustment
® Flange and orbital rod mounts

® Field changeable jaw openings

@ Field changeable single or double point tips
® Fixed or Adjustable Tip Inserts

® Optional side plate proximity sensing

@® Multiple head type options

40mm Cylinder Bore

Technical Data 20mm Rod Diameter
35mm Stroke

Fluid: Compressed air
Air Pressure:

Minimum 2.76 bar (40 psi)
Maximum 8 bar (116 psi)

Operating Temperature:
-4° Celsius (25° F) to 77° C (170° F) Contents
. . TechnicalData ....................... 23
Air Consumption: . )
) Ordering Information . .................. 24
32mm: 1.37 in®* or 22.52 cm?® )
Gripper Features . .. ......... .. ........ 25
Air Filtration: General Dimensions .. ................. 27
40 Micron* _ _ Parts ListS . . .ot ot 29
*Air supply must be dry enough to prevent ice formation at Head Type OPtioNS . . .« v oo eee e 31
temperatures below 2° C (35° F) i
Mount Options . . ...................... 34
Materials: Tip&lInsertOptions .. ................. 38
Gripper Head Hardcoat Anodized Aluminum Sensing OpPtioNs . . .. ... ovvei . 41
Sensing Cover AIummu_m or Nylon GC4 Installation & Maintenance ........... 43
Jaw Bumpers Glass Filled Nylon
Tip Inserts Heat Treated S-5 Tool Steel or Carbide
Gripper Arms Heat Treated Alloy Steel

GC4 Gripper



T

®

n

97

e S

7
Vo

NORGREN
Si eri

AUTOMATION SOLUTIONS

N
ij)
KU

Order String Example. See note at

bottom of page.

‘(8p1s 19pulif2)

XYoeq ayl wolj
1 1B Xoo| “4addlib ay;
40 apis 16 1o 3pis Y3|
‘< oY1 0] buliigle.l UsyiA

(3QIS ANVH LHOIY) YOLOINNOD OHDIN NId § 2Q/0¥ OOWVYN = I
(3AIS ANVH L4317) YOLOINNOD OHIIN Nid G OA/OV OOWVYN =1
(3AIS ANVH LHOIY) HOLOINNOD OHOIN NId ¥ Od OJNVYN =X
(2AIS ANVH 1437) YOLOINNOD OHDIN Nid ¥ Oa OOWWN =
(3dIS ANVH LHOIY) HOLOINNOD OHOIN NId § OA/OV ¥OdNL=H
(3dIS ANVH L437) YOLOINNOD OHDIN Nid G DQ/OV MOdNL =9
(3QIS ANVH LHOIY) YOLOINNOD OHOIN Nid ¥ 00 XodNL =4
(3QIS ANVH 1437) YOLO3INNOD OHDIN Nid ¥ Od MOdNL =3
(3QIS ANVH LHOIY) YOLOINNOD OHOIN NId ¥ A 4%d = a

(3QIS ANVH 1437) YOLOINNOD OHDIN Nid ¥ 04 4%d = O

(2QIS ANVH LHOIY) YOLOINNOD O¥OIN NId ¥ 0a 4%d = 4

(3AIS ANVH 1437) YOLOINNOD OHIIN Nid ¥ 04 4%d = V
ONISNIS ALINIXOYd ON =X

‘ONISNIS ALINIXOdd —

d0103r3 H1IM
LNNOW IONVTH dV3d 3TALS OdN3 = ST
AINNOW FONVId ¥3LINID FTALS OdN3 = ¥T
LINNOW aod WINOE FTALS OdN3I = €T
LNNOW FONVTd dV3d 43ddIdO SAI-Y3IS 005719 =9

AINNOW oy wwoy =G
INNOW dod .ST = ¥

LNNOW FONVId dvV3d =€
LINNOW a0y wwisg =¢
AINNON AOd .T=T
LNNOW ON =X

‘3dAL INNOW —

S1d0d 1dsd 8/T HLIM 43ANITAD =D
S1d0d LdN 8/T HLIM J3ANITAD = @
S1d0d 9 8/T HLIM 43dNITAD =V
H3IANITAD ON =X

*Y3ANITAD —

— 3T1GVIIVAV SNOILJO ON =X

3aigdvo =9
— SLY3ISNIdIL — IAVONOI/XIANOD =V
SLY3ISNION =X
SSINMOIHL 1INV WWS. E-WWOSZ = €
. SSINMOIHL 1INV WWOS Z-WWSe T = 2
- S¥AvdS diL SSANMOIHL TINVd WWSZT- WWQ'0 = T
(LNIWLSNCAY LYISNI SMOTTV) ¥30VdS ON = X
379n0a =4
— SdIL J1ONIS =V
SdILON =X
ONINIJO MVL 08 ¥IddN ‘HIMOT daxXId = €1
ONINIJO MVL oGF ¥IddN *HIMOT daxId = 21
ONINIJO MVC o2/T 22 ¥3ddN *HIMO1 aaxI4 = T1
ONINIJO MVL 08 ¥IMOT ‘¥3ddN A3axXI4 = €N
ONINIJO MVL «GF YIMOT ‘¥3ddN aaxid = zn
— 3TALS AVaH —| ONINIJO MVT Z/T 22 43IMOT ‘HY3ddN a3xXI4 = TN

ONINIdO Mvr
HIMOT .08 ‘YIddN o2/T 22 ‘AVMV dOdd = 1d
ONINIdO MVC -09T = EV
ONINIJO MVT .06 = 2V
ONINIdO MVC oS = TV

<t

<t
™|

340g wwoy =¥
—\ HOLVYNOIS3A SAIYIS ¥3ddIdO
V¥O9

‘3404 S31Y3S ¥3ddido

The example ordering string shown above is only for reference. Norgren highly recommends that users fully

understand each GC4 option described in this technical guide before ordering a GC4 Series gripper.

Note:

If you still

have questions after reviewing this guide, please contact your local Norgren representative for additional

information.

GC4 Gripper




(i NORGREN

% AUTOMATION SOLUTIONS

=
%’) er;e S@n

GC4 Features

Optional Flange or Orbital
Rod Mounts
See Page 34

Off the shelf Norgren
Cylinder Options
See Page 29

Single or Double Tip Configuration
with Multiple Tip Insert Options
See Pages 38 - 40 for available options

Rotary Gripper Head for
Unlimited Adjustment

See Page 26 for adjustment
procedure

Optional Side Plate Proximity Sensing (not shown)
See Pages 41 - 42 for available options

Multiple Head Type
Options, Field Changeable
See Pages 31 - 33 for available
head types

See Page 43 for field change
procedure

GC4 Gripper




) NORGREN

i AUTOMATION SOLUTIONS
e T
Gsiy erje sfn

Rotating Gripper Head

This feature enables the end user to rotate the gripper head 360° around the center axis to perfectly
match the gripper alignment with the part contour. This is a standard feature for all Size 4 GC grippers
and is functional with all mounting options. Follow the steps below to rotate the gripper head.

Loosen the four socket head set screws
located on each side of the gripper head

Rotate the gripper head to the desired
position. The head may be rotated a full
360 °in either direction. Once positioned,
tighten the two set screws on the un-
marked faces to 90 in/lb [10 N/m].
Tighten the two set screws on the faces
stamped "2" to 90 in/lb [10 N/m].

GC4 Gripper




GC4 Basic Dimensions
Jaws Closed, All Head Types

0"1 NORGREN

AUTOMATION SOLUTIONS'
%’) er;e Sy{gn

o 23T FH
GAFPEN HERD SNWIL DOHI PORGT SIT SO DN B14 14 [1305] 5 A8 [1088]
TORMLE 10 G0 M-LEE 10 u’.‘!‘: [1aasy pas
47] MR WER, {1} FRR DN R
et S L e | 473 [mzaf

/
=
i
@

22 [saal — & _HT n
ey

7.3 [T

a0 [228.2)

1B
178 HET
Tve, f3;
PR o A o o e s, 4 ¢ JAW PIVOT
(% WEan ST, (1) e S

36 1085}
228 [885]——sj——215 [810]—u
T [48.5]
1w [ e [\,a--“ﬂnm:n
]
| i
d +’ N I‘a_-.-
217 [l & B + — - 0 0EA RS WA 448 (1140 COSD 0w, POt
i ! | KL WEAD TPRTR
oo [27s] Iﬁ +é i

1.3% [R5 T®,
P14 [25.8] BT,
o

QE%?“ I

;} :

Caprb

a7 [rra] e L—

Dimensions shown are for reference only. Engineered layout drawings are
available. Contact your Norgren representative for additional information.

GC4 Gripper



") NORGREN,

%, AUTOMATION SOLUTIONS'
. =
%’) erje Ssyron

GC(C4 Flange Dimensions
Jaw Closed

Dimensions shown are for reference only. Engineered layout drawings are
available. Contact your Norgren representative for additional information.

GC4 Gripper




9 NoRGREN

%, AUTOMATION SOLUTIONS

=
%’) er;e S@n

O Refer to your specific head type on pages E-1 to E-3
to determine the proper part numbers for these items.

Detail Part Identification Part Number
1...... Base ........ ... GC4A-001
2. SidePlate (2) ....... ... . ... GC4A-002
3...... Arm *GC4A-003
6 ...... RodEnd ......... ... ... .. ... . .. ... GC4A-006
7 ... Pivot Shaft Body Spacer ............... GC4A-007
8...... GuideBlock (2) ........ ... ... .. ... . ... GC4A-008
9 ...... Bushing (2) ........c.. GC4A-009
10 ..... Roller (2) ........ ... ... ... ... ....... GC4A-010
11 ..... DowelPin ....... ... ... ... ......... GC4A-011
13 ..... SlotCover (2) ... GC4A-013
15 ..... Weld Cover ... GC4A-015
16 ..... Swivel Adapter ............... . il *GC4A-016
21 ..... Swivel Spacer .......... .. ., *GC4A-021
200 ....CylinderG-1/8 .........ccoiiiiiiiia GAC4-4
201 ... .Cylinder /8 NPT. . ... GAC4-1
215 ....M5x0.8x12mm LG Flat Head Screw (2) .... .01A02015
218 ....M4x0.7x12mm SH Cap Screw (4) ........ 01A01681
219 ....M4x0.7x20mm SH Cap Screw (2) ........ 01A01299
220 ....M4x0.7x60mm LG SH Cap Screw (4) ....**01A01756
402 ....CoverBumper ........... ... i, *GC4A-402

*Refer to Head Type Parts Lists for variations
**Refer to Mount Options for variations.

GC4 Gripper




) NORGREN

Y. AUTOMATION SOLUTIONS

%’) er;e S@n

)

DOUBLE TIP OPTION

Detail ~ Part Identification Part Number  Detail Part Identification Part Number
1 ... Base ... GC4B-001 217 ....M4x0.7x10mm LH Cap Screw (2 ......... 01A02041
2 .. SidePlate (2) ........... ... GC4B-002 218 ....M4x0.7x12mm SH Cap Screw (4) . ....... 01A01681
KR ArM *GC4B-003 220 ....M4x0.7x60mm LG SH Cap Screw (4) ... .*01A01756
7o Pivot Shaft Body Spacer ............... GC4B-007 222 ....M6x1.0x35mm Hex Bolt . .............. **01A01534
8 ..... GuideBlock (2) ....... ... ... ... L. GC4A-008 400 ... . COVEL v oo e GC4B-400
9 ..... Bushing (2) .............. .. ... GC4A-009
10 ..... Roller (2) ........................... GC4A-010 *Refer to basic gripper exp|0ded view on page D-1
11 ..... Dowel Pin . ....... ... ... .. .. ........ GC4A-011 **Refer to Mount Options for variations
13 ..... SIOtCOVEr (2) oot GC4A-013
15 ..... Weld Cover (Single Tip) ................ GC4B-015
16 ..... Swivel Adapter ..................... *GC4A-016
19 ..... Single Tip « .o GC4B-019
20 ..... Double Tip o oot GC4B-020
21 ..., Swivel Spacer ........... ... *GC4A-021
28 ..... SidePlate ................ ... GC4B-028
29 ... Weld Cover (Double Tip) ............... GC4B-209

200..... Cylinder G-1/8 . . ... GAC4-4
201..... Cylinder I8 NPT . ... .. GAC4-1

GC4 Gripper




S\
(i) NORGREN

% AUTOMATION SOLUTIONS

=
%’) er;e S@n

Head Type Al Parts List
Detail Part Identification Part Number

3..,AM2) GC4A-003
400 ...22-Degree Cover Bumper (2) ...GC4A-400

576 [146.4] |@+— — ——

Spare Part Kit
Includes all of the above
(see Note A)

....... GC4A-Al

HEAD TYPE OPTION: Al
WEIGHT: 2.1 LB [.9KG]

Head Type A2 Parts List
Detail  Part Identification Part Number

0® o

3. AM@) GC4A-003

6.36[161.6] | @ 402 .. .45-Degree Cover Bumper (2) ...GC4A-402

e ®@°

Spare Part Kit
Includes all of the above
(see Note A)

....... GC4A-A2
HEAD TYPE OPTION: A 2

WEIGHT: 2.1 LB [.9KG]

Head Type A3 Parts List
Detail  Part Identification Part Number

3 ..,AMM(2) GC4A-003
403 .. .80-Degree Cover Bumper (2) ...GC4A-403

6.94

Spare Part Kit
Includes all of the above
(see Note A)

....... GC4A-A3

HEAD TYPE OPTION: A3
WEIGHT: 2.1 LB [.9 KG]

NOTE A: When changing from a type A head to another type A head (e.g., Al to A3) order the cover bumpers only.  If
changing to a different head type (e.g., Al to D1) order the spare parts kit for the new head type.

NOTE B: Weights do not include the tips, tip inserts, or spacers.

Dimensions shown are for reference only. Engineered layout drawings are
available. Contact your Norgren representative for additional information.

GC4 Gripper



T
N

*) NORGREN

V. AUTOMATION SOLUTIONS’

sy

17
eri e S@n

Head Type Option D1 requires two different cover bumpers.

Refer to the D1 parts list below for part numbers.

\ VM5x0.8x16mm LG. S.H.C.S.

TYP. (4)

[TORQUE TO 90 IN-LBS [10 N-m

IM5x0.8x25mm  LG. S.H.C.S.
ITORQUE TO 75 IN-LBS [9 N-m]
[TYP.(2)

PIVOT POINT REF)

6.35 [161.4]

HEAD TYPE OPTION: D1

Head Type D1 Parts List

Detalil Part Identification

3...,AIM@) .
5. ....Am(@) ............
404 ...0-Degree Cover Bumper (1) ....GC4A-404

Part Number

....... GC4A-003
....... GC4A-005

403 .. .80-Degree Cover Bumper (1) . ..GC4A-403

Spare Part Kit
Includes all of the above

(see Note A)

....... GC4A-D1

M5x0.8x16mm LG. S.H.C.S.
XTYP. ®)

ITORQUE TO 90 IN-LBS [10 N-m]|

4.39[111.5]

© ©. ] 1 —t
o ®; r—& *.72[18.3]

_.e ‘
) .59 [15.0]
R |
®©

EIGHT: 1.9 LB [.9 KG]

HEAD TYPE OPTION: F1j

This head type is available only with a 50-degree
opening and cannot be reconfigured otherwise.

Head Type F1 Parts List

Detail Part Identification

Spare Part Kit
Includes all of the above

(see Note A)

3 ..., AIM2) .
400 ...Cover(2) ......oovnn..

Part Number

..... GC4B-003
..... GC4B-400

....... GC4A-F1

NOTE B: Weights do not include the tips, tip inserts, or spacers.

NOTE A: When changing from a type A head to another type A head (e.g., Al to A3) order the cover bumpers only.  If
changing to a different head type (e.g., D1 to Al) order the spare parts kit for the new head type.

GC4 Gripper




SA\Y
NS, AUTOMATION sowyggs
. (e
%’) er;e S@n

Head Type Options Ul. U2, U3and L1, L2, L3 each requires two different
cover bumpers. Refer to the part listings below for part numbers.

Head Type U1l or L1 Parts List
Detail Part Identification Part Number

- 3 AMA) GC4A-003
0® o 4 ... FixedArm(1)............... GC4A-004

of — — | W 214 .. .DOWEl ..o 06A01429
P e e ] 400 .. .22-Degree Cover Bumper (1) . . .GC4A-400

404 ...0-Degree Cover Bumper (1) ....GC4A-404

Spare Part Kit
Includes all of the above ...... GC4A-UL1

(see Note A)

HEAD TYPE OPTION: Ul or L1
WEIGHT: 2.1 LB [.9 KG]

Head Type U2 or L2 Parts List
Detail Part Identification Part Number

£ 3 .. Aim(Q) L GC4A-003
0® o 4 ... FixedArm (1) ............... GC4A-004
e — — H —%L 214 ..Dowel ............ .. ... ... 06A01429
12 [137.8] %@ ° 402 .. .45-Degree Cover Bumper (1) ...GC4A-402
< 404 ...0-Degree Cover Bumper (1) ... .GC4A-404
o2

Spare Part Kit

Includes all of the above ...... GC4A-UL2
HEAD TYPE OPTION: U2 or L2 (see Note A)

WEIGHT: 2.1 LB [.9 KG]

Head Type U3 or L3 Parts List
Detail Part Identification Part Number

3L AM@) GC4A-003

0® o 4 ... FixedArm @) ............... GC4A-004

e | R 214 ...Dowel............cooi.l. 06A01429

s7ipes2 | 1@ 403 .. .80-Degree Cover Bumper (1) ...GC4A-403

404 ...0-Degree Cover Bumper (1) ....GC4A-404

Spare Part Kit
Includes all of the above ...... GC4A-UL3

HEAD TYPE OPTION: U3 or L3
(see Note A)

WEIGHT:2.1LB  [9KG]

@

NOTE A: When changing from a type U or L head to another type U or L head (e.g., U1 to L3) order the cover bumpers
only. If changing to a different head type (e.g., U1 to Al) order the spare parts kit for the new head type.

NOTE B: Weights do not include the tips, tip inserts, or spacers.

Dimensions shown are for reference only. Engineered layout drawings are
available. Contact your Norgren representative for additional information.

GC4 Gripper



;) NORGREN

%% AUTOMATION SOLUTIONS
e <TR
%’) erje Ssyron

GC 4 Mount Options

Rod Mount 1" and

25mm

A D

LB
AERT S Tl — —— &,
I == S ,.'“:-qf"__
| I =
- I
w\:ﬁ;ﬁ R 7
o e

AB2 [971]

XD

304 [1001] W, GRISRIR HEAD
CLEARANCE RADUS

3.7 [85.6] WM. MOUKT
CLEMTAHCE RWOIUS

T.N:Ba:hah%..lgnm LGH B.H.t.g.z "
FIT AT -
N& I ml

—
gﬁ — R

15 Wi __"“__ __" REF.

e=—="11 /]

LT _’_____,::—i_l ?

e

217 [55.00 s i pippeempto| 425 [07.3] ReF,
}:::::_-_:a @ @
_ 1 _
i
i e S ——
_j—_,.‘-::::::_—_ﬁ @ @
/ — o ./
Mt Bu Tl LG, Tu,u & [18.0]~ L == P18 [32.5]
TOROUE TO 120 M-LBS [14 H-m]
T, (4} e 0 [B5.0]
414 [105.1] Eﬂ[%
WEIGHT: BLEG [.4
L
1) TGHIEN WA SH.CE EVENUALLY. THE Q4P
WETWEEN THE RITAL MOUNT AMD THE RINTAL
CAP N EACH SIDE OF GRBTAL BALL IS T0 BE
APTRON, THE SAME AT THE SPECFED TOROUE
LUE.
Rear Flange Mount
433 [0y —— —
354 [002]
=177 [4881—
T SO I
. 8 T, (47 HOLES:
" -] @ B
217 [sm0] — — — + T80 [aao]
] ﬁ 2.0]
P e 8 @
A1 [10.5]-+] 217 [E80]—=
dos [23.0]

GC4 Gripper




9 NoRGREN

NS AUTOMATION SOLUTIONS

—
Qél) erie sfgn

Rod Mount 1.50” and 40mm

.
WEGHT: 10185 [.45#6]

4,53 [115.1] WIN. CRIFPER HEAD
CLEARMNCE RADILS

&5
e

E.w E\m.vk':m.s WOUNT

370 [34.1]

W11 Su50mm LS. SHECS

TARGUE TG 33 FT. LBS [43 h—m]
H TR, {3)

N

BT UNLIMITED
OﬂBﬁﬁLRthLETHENT

\)
&7

i
SEE NOTE #1

522 [132.5]

/|

Tt T o eSS tisal
L [ 4 Mem &5 [180]— —
TP, (4) o hea

4,04 [105.1]
WEIGHT. 1.1LES [5KE]

1) TRHTEW W1Q 5.4 C.5. EVENUALLY THE GAP
BETWEEW THE ORBITAL WOUMT AMD THE DRBITAL
CAP ON EACH SDE OF ORBITAL BALL 5 TC- BE
GIUR'I:]I; THE SAME AT THE SPECFIED TORQUE

GC4 Gripper




") NORGREN

VST AUTOMATION SOLUTIONS'
.e SV
%’) erje Syron

MT1 Rod Mount Parts List (English)
Detail  Part Identification Part Number

12 ... OrbitalCap (1) .. ......co.... GC4A-012
14 ... .Orbital Mount (1) ............ GC4A-014
16 ....Swivel Adapter .............. GC4A-016
40 ... .OrbitalBall (1) ............ P-GLM500-9
220 ...M4x0.7x60mm SHCS (4) . ... .. 01A01756
222 ...M8x1.25x35mm SHCS (2) . . . .. 01A01534
225 ...S8 Serrated Washer (2) ....... 04A01216

Spare Part Kit

Includes all of the above ...... GC4A-MT1

MT2 Rod Mount Parts List (Metric)
Detail Part Identification Part Number

12 ... OrbitalCap (1) .. ............ GC4A-012
14 ... .Orbital Mount (1) ............ GC4A-014
16 ... .Swivel Adapter .............. GC4A-016
41 ... .Orbital Ball (1) ........... P-XGLM500-9
220 ...M4x0.7x60mm SHCS (4) . ... .. 01A01756
222 ...M8x1.25x35mm SHCS (2) . . . . . 01A01534
225 ...S8 Serrated Washer (2) ....... 04A01216

Spare Part Kit
Includes all of the above ...... GC4A-MT2

MT3 Flange Mount Parts List
Detail  Part Identification Part Number

16 ....Swivel Adapter (1) ........... GC4A-016
17 ....RearFlange (1) ............. GC4A-017
21 ....Swivel Spacer (1) ........... GC4A-021
221 ...M4x0.7x70mm SHCS (4) ...... 01A01530

Spare Part Kit
Includes all of the above . ... .. GCA4A-MT3

MTX No Mount Option Parts List
Detail  Part Identification Part Number

16 ....Swivel Adapter (1) ........... GC4A-016
21 ....Swivel Spacer (1) ........... GC4A-021
220 ...M4x0.7x60mm SHCS (4) ...... 01A01530

Spare Part Kit
Includes all of the above ...... GC4A-MTX

GC4 Gripper




SA\Y
NS, AUTOMATION sow;ggs
. (A
%’) er;e S@n

MT4 Rod Mount Parts List (English)
Detail  Part Identification  Part Number

46 ... .OrbitalCap (1) .............. GC4A-046
47 ... .Orbital Mount (1) ............ GC4A-047
16 ... .Swivel Adapter .............. GC4A-016
42 ... .OrbitalBall (1) ............ P-GLM700-5
220 ...M4x0.7x60mm SHCS (4) ...... 01A01756
230 ...M10x1.5x50mm SHCS (2) . . . .. 01A01609
231 ...S10 Serrated Washer (2) ...... 04A01207

Spare Part Kit
Includes all of the above . ..... GC4A-MT4

MT5 Rod Mount Parts List (Metric)
Detail  Part Identification Part Number

46 ... OrbitalCap (1) . ............. GC4A-046
47 ... .Orbital Mount (1) ............ GC4A-047
16 ... .Swivel Adapter .............. GC4A-016
43 ... .OrbitalBall (1) ........... P-XGLM700-5
220 ...M4x0.7x60mm SHCS (4) ...... 01A01756
230 ...M10x1.5x50mm SHCS (2) . . . . . 01A01609
231 ...S10 Serrated Washer (2) ...... 04A01207

Spare Part Kit
Includes all of the above ...... GC4A-MT5

GC4 Gripper




SN

")) NORGREN

AUTOMATION SOLUTIONS'
%’) er;e Sy{gn

Tip Options

O
-

A
@

—

NV
=
—
S

=

NEEN
mjl

N
S EEND N S

]
=
=]

ﬁ
@

Tip thion A Tip Option B
Single Double
Weight per pair: .9 Ibs [.4 kg] Weight per pair: 1.2 lbs [.5 kg]

The Tip Options above are shown with Insert and Spacer options for illustration purposes only

GC4 Gripper




SA\Y
(;y NORGREN,
e AUTOMATION SOLUTIONS
. =
%’) erle Syron

Tip Insert Options

51[13.0]
r

FLATS
ot
r .25
M8x1.25 THD. \L N f T

1.24[31.4]

A
- |

51 [13.0] \/ ‘

CONVEX INSERT X4-PT11

130l

_ FLATS
4

r .25

X1 X r ‘j
M8x1.25 THD. \__ _f T

1.24[31.4]

L
- |

51 [13.0] \/ ‘

CONCAVE INSERT X4-PT12

A
/ /& 51[13.0]

r .25

azsmo ~ (7]
M8x1.25 THD. \ 7 1

' 1.24[31.4]

—a |

31[7.9] 4

\/4

51 [13.0]

CARBIDE STEEL INSERT

X4-PT5
OPTION A OPTION B
Tip Insert Options
Single and Double Tip Insert Parts List

Detail Part I.D. Part No. Single Double
Tip Qty Tip Qty

35..... Option A Insert (convex). . X4-PT11............ 1 ... 2

36.... Option A Insert (concave). X4-PT12............ 1...... 2

39..... Option B Insert (carbide).. X4-PT5............ 2. 4

5 )
o @ : |, —X4-PT5
e O ~—X4-PT5
@ °®
\\\ ®
GC4B-031 Xa-PTl Single and Double Flange Tip Insert Parts List
BRCEEPEECN Detail Part I.D. Part No. Single Double
) Tip QtyTip Qty
40 .... Option A Insert (concave) GC4B-031 .......... 1...... 2
— for Flange Weld Guard
35..... Option A Insert (convex). . X4-PT11............ .. 2
41 .... Option B Insert (carbide). GC4B-032 .......... 1...... 2
for Flange Weld Guard
GC4B-O32—\ X4-PT5 39..... Option B Insert (carbide).. X4-PT5............ 1...... 2
o . o I8
(]
I~ ©@ O @
| 1® ® 0
S~~~ ®
GC4 Gripper




") NORGREN

%, AUTOMATION SOLUTIONS'

%’) er;e S@n

)

Single Tip Option A Parts List
Detail  Part Identification  Part Number

19....SingleTip(@) ................ GC4A-019
223 ...M8x1.25x30mm Hex Bolt (2) . ..01A02045
226 ...M8x1.25Lock Nut(2) ......... 02A01331
Spare Part Kit
Includes all of the above ....... GC4A-TA

Double Tip Option A Parts List
Detail Part Identification Part Number

20.... DoubleTip (2) .............. GC4A-020
223 ...M8x1.25x30mm Hex Bolt (2)...01A02045
226 ...M8x1.25 Lock Nut (2)......... 02A01331
Spare Part Kit
Includes all of the above ....... GC4A-TB

Tip Spacer Options

h= Spacer
Locations

Regular

Option 1:

Black

Option 2:

Silver

Option 3:

Gold

\
\

N
S

¥
8

Spacers for
Tip Options
Aand B

Recommended for panel or part
thicknesses of 0.00mm - 1.25mm

Recommended for panel or part
thicknesses of 1.25mm - 2.50mm

Recommended for panel or part
thicknesses of 2.50mm - 3.75mm

GC4 Gripper




PS2 Proximity Sensing

(%) NORGREN

> AUTOMATION SOLUTIONS
. 7
S erle Syron

B %
358190.9] N
— |
© -
GRIPPER CLOSED — GRIPPER OPENED
SENSOR #2 SENSOR #1
[*—3.23 [82.0] REF. —™]
.63[16.0] ™ [*—2.48[63.0] ™
4
2.17[55.0] —

7

OPTION X =
OPTION A = PEPPERL & FUCHS (MODEL NBN2-F58S3-E8-V1): DC 4 PIN SINGLE KEY MICRO (LEFT HAND SIDE)
OPTION B = PEPPERL & FUCHS (MODEL NBN2-F58S3-E8-V1): DC 4 PIN SINGLE KEY MICRO (RIGHT HAND SIDE)
OPTION C = PEPPERL & FUCHS (MODEL NBN2-F58S3-E8-V1): DC 4 PIN SINGLE KEY MICRO (LEFT HAND SIDE)
OPTION D = PEPPERL & FUCHS (MODEL NBN2-F58S3-E8-V1): DC 4 PIN SINGLE KEY MICRO (LEFT HAND SIDE)
OPTION E = PEPPERL & FUCHS (MODEL NBN2-F58S3-E8-V1): DC 4 PIN SINGLE KEY MICRO (RIGHT HAND SIDE)

OPTION F = PEPPERL & FUCHS (MODEL NBN2-F58S3-E8-V1): DC 4 PIN SINGLE KEY MICRO (RIGHT HAND SIDE)

NO PROXIMITY SENSING

'WITH SERRATED TOOTH ADJUSTABLE EDGE GUARD

WITH ADJUSTABLE EDGE GUARD

WITH SERRATED TOOTH ADJUSTABLE EDGE GUARD

WITH ADJUSTABLE EDGE GUARD

3.58[90.9]

1.41 [35.9][*

1

1.75[44.4]

OPT!

ION A

OPTION B
LEFT SIDE (SHOWN) RIGHT SIDE (REF)

PROXIMITY SENSING OPTION

WEIGHT: OPTIONS A-F: .2 LB [.1 KG]

GC4 Gripper



") NORGREN

NS AUTOMATION SOLUTIONS'
. R
%’) erle Sy{gn

Proximity Connections - Mechanical & Electrical

TECHNICAL DATA:

NOMINAL SENSING RANGE
FLUSH MOUNTED, SHIELDED
STANDARD TARGET
HYSTERESIS
REPEAIABILITY/ACCURACY
REDUCTION FACTION

OPERATING VOLTAGE
CURRENT CONSUMPTION
OUTPUT(S)

OUTPUT CURRENT

VOLTAGE DROP (ACROSS SENSOR)

LEAKAGE CURRENT

SHORT CIRCUIT AND OVERLOAD PROTECTION
REVERSE POLARITY PROTECTION

LED INDICATORS

POWER-UP DELAY

SWITCHING FREQUENCY
ENVIRONMENTAL PROTECTION
OPERATING TEMPERATURE
ELECTROMAGNETIC COMPATIBILITY (EMC)
MAGNETIC FIELD IMMUNITY

SHOCK

VIBRATION

TYPE OF CONNECTION

HOUSING AND SENSING FACE MATERIAL

2 mm = 10%

NO

8 mm x 8 mm x 1 mm FERROUS
TYPICALLY 5%
<0.01 mm
STAINLESS STEEL 0
ALUMINUM 0.
COPPER 0
10TO 30VDC + 10%

<25 mA

2 PNP NORMALLY OPEN
TRANSISTORS, (SOURCING)

whN

100 mA MAX.

<3V

<0.1mA

YES

YES

YELLOW: TARGET PRESENT
GREEN: POWER ON
<5ms

20 Hz

IP P67

-25°CTO + 70°C

PER IEC 1000

UP TO 200 mT

b<309.T<11lms

f <55 Hz. ? < Imm AMPLITUDE
MICRO-CONNECTOR (V1)
PBTP (CRASTIN)

PROXIMITY SENSOR OPTION AA
(SHOWN)

4 PIN MALE MICRO CONNECTOR
(M12x1.0 THD)

NOTE: WILL PIVOT 90
COUNTER-CLOCKWISE)

M5x0.8x16mm LG. S.H.C.S.
TORQUE TO 20 IN-LBS [2 N-m]

M4x0.7x20mm LG. LH.C.S.
PS2 TORQUE TO 20 IN-LBS [2 N-m]
TYP.(2)

GRIPPER SENSING WIRING DIAGRAM

SENSOR #1
GRIPPER
OPENED

SENSOR #2
GRIPPER
CLOSED

@ Ofwmre (V)]
®©

BROWN (+)

PS2 Proximity Sensing Parts List

Detail Part Identification  Part Number
1 ....SensorHousing (1) .......... GC4AT001
2 .. Target (1) ... GC4AT002
200 ...Status Controller (1) ........ GC4AT200

201 ...M5x0.8x20mm LH Cap Screw..01A02040
400 ...Sensor Label ............... GC4AT400

Sensor Assembly

Includes all of the above ....... GC4-PS2

GC4 Gripper




) NORGREN

NS AUTOMATION SOLUTIONS
. =
%l) erje Ssyron

Field Changeable Tips and Tip Inserts

These two features help make the GC4 Series of grippers adaptable to practically any sheet metal material
handling application. Tips can be changed from single to double or vice versa. The tip inserts can be used by
themselves, making them fully adjustable, or with spacers designed for specific part thicknesses. Page G-2 shows
the tip insert and the tip spacer options available for the GC4 Series gripper. Follow the procedures below to
change tips, tip inserts, or tip spacers.

Field changing of tips:

1. Remove upper and lower lock nut #226.

2. Remove upper and lower metric hex bolt
#223.

3. Change the tip #19 (single) or #20 (double).

4. Replace bolt and lock nut. Torque bolt to
360 in/lb (41 Nem).

Field changing of tip inserts:

1. Remove lock nut from upper and lower inserts, then screw out the inserts #35, #36
or #39 from the tips #19 (single) or #20 (double).

2. Thread new inserts into tips. Torque lock nuts to 190 in/lb [21N/m].

Note: If spacers #22, #23, #24 are being used, make sure all spacers match in

color. Refer to page G-2 for recommendations.
3. If used without spacers, follow the procedure below to properly adjust the inserts to

the part thickness.

Adjusting Tip Inserts
When used without the optional tip spacers, tip inserts are fully adjustable. Part thickness should not vary by
more than .040 in. Beyond that, the inserts must be adjusted to accomodate the thickness of the part. Follow the
procedure below to adjust the tip inserts.

NOTE: With the gripper’s jaws in their closed position, the inserts may be
manually adjusted. Refer to Figures A and B.

MAX. TIP ADJUSTMENT: .20 [5.1]
MIN. TIP ADJUSTMENT: 0.00

1. With the tip inserts backed off, adjust the concave insert where
desired and lock into place.

2. Place the part between the two inserts and adjust the convex
insert by hand until both the concave and convex inserts are in
contact with the part.

3. Remove the part, then depending on the softness of the metal, — MIN. TIP ADJUSTMENT: 0,00
advance the convex inserts one or two rotations and lock into 7 MAX TIP ADIUSTMENT: 25 (53]
place. Torque lock nuts to 190 in/lb [21N/m]. For double tip
units, this last adjustment should be made with each convex
insert a little at a time so the part remains level when the two

inserts are locked into place.

Figure A

Figure B

GC4 Gripper



") NORGREN,

V&%, AUTOMATION SOLUTIONS
. =
%’) erje Ssyron

The features on this page provide two functions. First, they enable users to easily replace an arm in the field with
a minimum of downtime. Second, they give users the ability to reconfigure a GC gripper into a different model
based on changes in their application.

Field Changeable Arms

Field changing arms:

1. Loosen two (2) flathead screws #215 and
remove weld cover #15.

2. Remove the two (2) socket head cap screws
#218, the one (1) socket head cap screw #219
and side plate #2 (side plate shown without
cover).

3. Remove guide block #8 and slide off arm #3.

4. Replace arm and guide block, making sure the
bumper is properly seated, replace side plate,
the two (2) #218 socket head cap screws and
the one (1) #219 socket head cap screw.
Torque the #218 screws to 90 in/lb (10 N/m)
and the #219 screw to 75 in/lb (9 N/m).

Field changing bumpers to change

head type:

1. Loosen (no need to remove) the two flathead
screws #215.

2. Tip and and remove bumper(s) #402.

3. Replace with new bumper (see Note below).

4. Retighten 2 flathead screws. Torque to 85 in/lb
(9.5 N/m).

NOTE:

1. Head Type Options Al, A2 & A3 each use identical bumpers. Refer to page E-1 for kit information and part callouts.

2. Head Type Option D1 uses a single 22° bumper and a single 80° bumper. Refer to page E-2 for kit information and part callouts.

3. Head Type Options L1, L2, L3, U1, U2, & U3 all use a single 0° bumper combined with an opposing 22°, 45° or 80° arm bumper.
Refer to page E-3 for kit information and part callouts.

GC4 Gripper




") NORGREN

%, AUTOMATION SOLUTIONS
. =
%’) erje Ssyron

Changing the Cylinder

Replacing the cylinder:

1. Loosen the two orbital mount set screws #406.

2. Remove four (4) long socket head cap screws #220 or
#221 depending on mount options.

3. Pull gripperhead and cylinder #200 or #201 apart with
your hands until the rod end #6 is exposed.

4. Being careful not to mar the surface, secure the rod
end which is now visible and unthread the cylinder from
the rod end.

GC4 Gripper




") NORGREN

%, AUTOMATION SOLUTIONS'
. =
%’) erle Syron

Lubricating the GC Gripper

ﬁ Lubricating Instructions:

1. Use Mobilith SHC 1500 Lubricating Grease.

2. Coat both sides of the middle section of the base #1.

3. Coat inner side and slot of side plates #2.

4. Coat lower half (both sides) inner surface of slot and pivot
hole of arms, #3, #4, or #5, depending on head type.
Coat all sides of guide blocks, #8.

Coat I.D. and O.D. of rollers, #10.

7. Coat length of dowel pin, #11.

oo

GC4 Gripper




